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_hmamḯ> cmoH$godm Am`moJ : amÁ¶godm nyd©narjm 2 ’o$~«wdmar 2014

gm_mÝ` AÜ¶¶Z nona 1

1) ’¡$Onya ¶oWrc H$m±J«og A{YdoeZm~m~V Imcrcn¡H$s H$moUVo {dYmZ gË¶ Zmhr ?
1) Vo H$m±J«ogMo J«m‘rU ̂ mJmVrc n{hco A{YdoeZ hmoVo 2) Ë¶m A{YdoeZmcm gw‘mao 40,000 eoVH$ar CnpñWV hmoVo.
3) Ë¶m A{YdoeZmÀ¶m Am¶moOZmV YZmOr ZmZm Mm¡Yar d gmZo Jwê$Or ¶m§Zr ‘hÎdmMr ̂ y{‘H$m nma nmS>cr.
4) e§H$aamd Xod ho Ë¶m A{YdoeZmMo AÜ¶j hmoVo.

1) Which one of the following statement about the Faizpur Session of Congress is not true?

1) It was the first Session of Congress held in the rural area.      2) It was attended by about 40,000 peasants.

3) Dhanajinana Choudhari and Sane Guruji played an important role in organizing this session.

4) Shankarrao Deo presided over the session.

2) Am¡a§JOo~Z§VaÀ¶m H$mimVrc gdm}ËH¥$ï> amOnyV amOm hmoVm, A§~aMm gdmB© amOm O¶ [g§J! Ë¶mZo O¶nya ho gw§Xa eha {Z‘m©U
Ho$co. Ë¶mZo nmM {R>H$mUr O§Va‘§Va ~m§Yco.  nwT>rcn¡H$s {H$Vr {R>H$mUr Ë¶mZo O§Va‘§Va ~m§Yco Zmhr?
a) ~Zmag           b) CÁO¡Z>          c) ‘Wwam            d) >CX¶nya       e) Acmhm~mX
n¶m©¶r CÎmao -
1) EH$ 2) XmoZ 3) VrZ 4) Mma

2) The most outstanding Rajput ruler in the post Aurangzed period was Sawai Raja Jai Singh of Amber. He built

the beautiful city of Jaipur. He also erected astronomical observatories at five placed. At how many of the

following placed he did not erect these??

a)Banaras b) Ujjain                  c) Mathura            d) Udaipur             e) Allahabad

Answer options :

1) One 2) Two 3) Three 4) Four

3) H$m¶© H$mimZwgma H«$‘mZo ~m~a, hþ‘m¶yZ, AH$~a, Ohm§Jra, ehmOhmZ d Am¡a§JOo~ ho J«oQ> ‘wKëg åhUyZ JUë¶m OmVmV.
Am¡a§JOo~À¶m ‘¥Ë¶yZ§Va Amcoë¶m ‘wKc g‘«mQ>m§Zm ""coQ>a ‘wKëg/Z§VaMo ‘wKëg"" åhUyZ g§~moYco OmVo. nwT>rc coQ>a
‘wKëgMm Ë¶m§À¶m H$mcmdYrà‘mUo H«$‘ cmdm.
a) Ah‘X ehm> b) ~hmXÿa ehm> c) Ohm§Xa ehm >d) ‘hå‘X ehm
1) Ah‘X ehm, ~hmXÿa ehm, Ohm§Xa ehm, ‘hå‘X ehm    2) ~hmXÿa ehm, Ohm§Xa ehm, ‘hå‘X ehm, Ah‘X ehm
3) ~hmXÿa ehm, ‘hå‘X ehm, Ohm§Xa ehm, Ah‘X ehm   4) Ohm§Xa ehm, ‘hå‘X ehm, ~hmXÿa ehm, Ah‘X ehm

3) The Great Mughals included Babar, Humayun, Akbar, Jahagir, Shahjahan and Aurangzeb in that chronological

order. The Mughal emperors who came to throne after the death Aurangzed are called the Later Mughals.

Arrange the following four Later Mughals in the chronological order.

a) Ahmad Shah b) Bahadur Shah c) Jahandar Shah d) Mohammad Shah

Answer options :

1) Ahmad Shah, Bahadur Shah, Jahandar Shah, Mohmmad Shah

2) Bahadur Shah, Jahandar Shah, Mohammad Shah, Ahmad Shah

3) Bahadur Shah, Mohammad Shah, Jahandar Shah, Ahmad Shah

4) Jahandar Shah, Mohammad Shah, Bahadur Shah, Ahman Shah

4) Imcrc (A) Am{U (B) {dYmZo dmMyZ n¶m©¶r CÎmamVrc ¶mo½¶ n¶m©¶ {ZdS>m.
(A)^maVr¶ g‘mOì¶dñWm gmV OmVt‘Ü¶o {d^mJë¶mMm C„oI ‘oJ°ñW°{Zg H$aVmo.
(B) ‘oJ°ñW°{ZgMm OmV d ì¶dgm¶ ¶mV Jm|Yi CS>mcocm {XgVmo.
n¶m©¶r CÎmao :
1) (A) Am{U (B) XmoÝhr {dYmZo gË¶ AgyZ (B) ho (A) Mr ¶mo½¶ H$maU‘r‘§mgm XoVo.
2) (A) Am{U (B) XmoÝhr {dYmZo gË¶ AmhoV, na§Vw (B) ho (A) Mr ¶mo½¶ H$maU‘r‘§mgm XoV Zmhr.
3) (A) gË¶ Amho, na§Vw (B) MyH$ Amho 4) (A) MyH$ Amho, na§Vw (B) gË¶ Amho
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4) Read statement (A) and (B) and Choose appropriate option from the answer options :

(A)Megasthenes mentions seven castes into which the Indian society was divided.

(B) Megasthenes confused caste with professions.

Answer options :

1) Both (A) and  (B) are true, and (B) is the correct explanation of (A).

2) Both (A) and (B) are true, but (B) is not the correct explanation of (A).

3) (A) is true, but (B) is false 4) (A) is false, but (B) is true

5) Imcrcn¡H$s H$moUVm H«$m§{VH$maH$ {dMmamZo ZmpñVH$ d g‘mOdmXr hmoVm ?
1) Xm‘moXa Mm’o$H$a 2) {dZm¶H$ Xm‘moXa gmdaH$a  3) AaqdX Kmof    4) ^JV qgJ

5) Who, among the following revolutionaries, was an atheist and a socialist in approach?

1) Damodar Chapehekar 2) Vinayak Damodar Savarkar 3)  Arabindo Ghosh 4) Bhagat Singh

6) Ë¶mcm ""{ZPm‘-Cc-‘wëH$"" hm {H$Vm~ XoÊ¶mV Amcm hmoVm. Ë¶mcm X»IZMm JìhZ©a åhUyZ Zo‘Ê¶mV Amco hmoVo. Ë¶mZo
Amg’$Omhr amOKamUo ñWmnZ Ho$co. Ë¶mÀ¶m CÎmam{YH$mè¶m§Zm h¡Ðm~mXMo {ZPm‘ åhUyZ AmoiIco OmVo. Ë¶mcm AmoiIm ?
1) {MZ {¹${cM ImZ 2) ‘w{e©X Hw$cr ImZ 3) gmXV ImZ 4) hþgoZ Acr ImZ

6) He was given the title of Nizam-ul-Mulk. He was made the Governor of the Deccan. founded the Asaf Jahi

dynasty. His successors are called the Nizams of Hyderabad. Identification him :

1) Chin Quilich Khan    2) Murshid Quali Khan   3)  Saadat Khan 4) Husain Ali Khan

7) AOmVeÌy~m~V nwT>rcn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
a) Ë¶mMo Zmd Hw${UH$ gwÕm hmoVo> b) Vmo h¶ªH$ KamÊ¶mMm eodQ>Mm emgH$ hmoVm.>
c) Ë¶mÀ¶m emgZH$mimV amOJ¥h ¶oWo àW‘ ~m¡Õ n[afX Am¶mo{OV Ho$cr Jocr. >
d) Ë¶mZo {cÀN>dr amÁ¶mcm ‘JY ‘Ü¶o {dcrZ Ho$co$.
n¶m©¶r CÎmao :
1) (a), (b)  Am{U (d) 2) (a), (c)  Am{U  (d) 3) (a), (b) Am{U (c) 4) (b), (c) Am{U (d)

7) Which of the following statements are true about Ajatashatru?

a) His name was also Kunika. b) He was the last ruler of the Haryanka dynasty.

c) The first Budhist council was held at Rajgruh during his regime.

d) He integrated Lichhavi kingdom into Magadh.

Answer options :

1) (a), (b)  and (d) 2) (a), (c)  and  (d) 3) (a), (b) and (c) 4) (b), (c) and (d)

8) ‘amR>m gm‘«mÁ¶mV ‘wbV: H$mhr C{Udm hmoË¶m Á¶m‘wio Ë¶m§Mm AY:nmV Pmcm. nwT>rcn¡H$s H$moUVr Ë¶mVrc EH$ ZìhVr ?
1) ‘amR>çm§À¶m amOH$s¶ nÕVr‘wio ~è¶mM cmoH$m§Mr ghmZŵ yVr Ë¶m§Zr Kmcdcr d Vo cmoH$ ‘amR>çm§nmgyZ Xÿa Joco.
2) BVa amÁ¶m§da ‘amR>çm§Zr Q>mH$coë¶m YmS>t‘wio ZdrZ eÌy {Z‘m©U Pmco.
3) Ë¶m§Zr cmdcoë¶m H$am§‘wio gd©gmYmaU ‘mUgm§Mm OmM dmT>cm {deofV: eoVH$è¶m§Mm d ì¶mnmè¶m§Mm
4) darcn¡H$s EH$hr Zmhr.

8) The Maratha power suffered from certain basic weaknesses which led to its downfall. Which of the following

was not one among them?

1) The nature of their political system the Marathas alienated the sympathies of other people.

2) Their raids into the territories of other rulers made new enemies.

3) The levies charged by them added to the oppression of the common people, particularly peasants and

traders. 4)  None of the above

9) Ama§̂ H$mcrZ amï´>dmÚm§Zr 20 ì¶m eVH$mVrc ñdmV§Í¶ MidirgmR>r ̂ ¸$‘ nm¶m KmVcm :
1) AO© {dZ§Ë¶m§À¶m amOH$maUmÛmao 2) KQ>ZmË‘H$ gmYZm§Ûmao
3)Am§XmocZmË‘H$ ‘mJm©Ûmao 4) dgmhVdmXmÀ¶m Am{W©H$ g‘rjoÛmao

9) The early nationalists provided the firm foundation to the 20th century freedom movement through:

1) Politics of petitions 2) Constitutional means 3) Agitational way 4) Economic critique of colonialism

10) Imcrcn¡H$s H$moUVr ZmQ>Ho$ hf©dY©ZmZo {c{hcr ? i) {à¶X{e©H$m      ii) aËZmdcr      iii)  ZmJmZ§X
n¶m©¶r CÎmao :
1) (i) ’$º$ 2) (i) Am{U (ii) ’$º$ 3) (ii) Am{U (iii) ’$º$ 4) {VÝhr
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10) Which of the following plays were written by Harshavardhan?

i) Priyadarsika ii) Ratanavali iii)  Nagananda

Answer options

1) (i) only 2) (i) and (ii) only 3) (ii) and  (iii) only 4) All the three

11) OmoS>çm cmdm. (CÎmamMm ¶mo½¶ n¶m©¶ {ZdS>m)
¶mXr H«$. I ¶mXr H«$. II

a) Am{Xcemhr i) ~rXa
b) {ZOm‘emhr ii) JmodcH$mo§S>m
c) B‘mXemhr iii) {dOmnya
d) Hw$Vw~emhr iv) Ah‘XZJa
e) ~arXemhr v) ~oama
n¶m©¶r CÎmao :

(a) (b) (c) (d) (e)

1) (iii) (v) (ii) (iv) (i)

2) (v) (iv) (i) (ii) (iii)

3) (iii) (iv) (v) (ii) (i)

4) (v) (iv) (ii) (iii) (i)

11) Match the pairs. (Choose the correct answer option)

List -I List -II

a) Adil Shahi i) Bidar

b) Nizam shahi ii) Golconda

c) Imad shahi iii) Vijapur

d) Qutub Shahi iv) Ahemadnagar

e) Barid Shahi v) Berar

Answer options :

(a) (b) (c) (d) (e)

1) (iii) (v) (ii) (iv) (i)

 2) (v) (iv) (i) (ii) (iii)

3) (iii) (iv) (v) (ii) (i)

4) (v) (iv) (ii) (iii) (i)

12) Owc¡ 1947 n¶ªV H$mhr g§ñWmZm§Mm ^maVr¶ g§KamÁ¶mV {dcrZ hmoÊ¶mg {damoY hmoVm Ë¶mV nwT>rc g§ñWmZo hmoVr:
a) ~S>moXm> b) ÌmdUH$moa c) {~H$mZoa >d) ^monmi
1) darc gd© 2) (a), (c) 3) (b), (c) 4) (b), (d)

12) The princely states that were unwilling to join the Indian Union until July 1947 included :

a) Baroda b) Travancore c) Bikaner d) Bhopal

1) All the above 2) (a), (c) 3) (b), (c) 4) (b), (d)

13) Cco‘m§À¶m amOH$maUmVrc hñVjonmcm Vrd« {damoY Imcrcn¡H$s H$moUr Ho$cm ?
i) ~ë~Z ii) A„mCÔrZ {IcOr iii) ‘hå‘X {~Z-VwKcH$ iv) {’$amoOemh VwKcH$
n¶m©¶r CÎmao :
1) (i) Am{U (ii) 2) (ii) Am{U (iii) 3) (iii) Am{U (iv) 4) (iv) Am{U (i)

13) Who among the following strongly opposed the interference of the Ulemas in the affairs of the state?

i) Balban            ii) Alauddin Khilji         iii) Muhammad-bin-Tughlaq iv) Firoz Shah Tughlaq

Answer options :

1) (i) and (ii) 2) (ii) and (iii) 3)  (iii) and (iv) 4) (iv) and  (i)

14) H$m±J«og ñWmnZog§X^m©Vrc "gwajm PS>n {gÕm§Vm" cm "X§VH$Wm" g§~moYyZ H$moUr ZmH$maco Amho ?
1) E. Amo. øy‘ 2) E. Ama. XogmB© 3) VmamM§X 4) {~nZ M§Ð

14) Who has rejected the 'Safety Valve Theory' about the foundation of the Congress calling the 'myth'?

1) A. O. Hume 2) A. R. Desai 3) Tarachand 4) Bipan Chandra
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15) nwT>o {Xcoë¶m {~«{Q>e ì¶mnmar H|$Ðm§Mr Ë¶m§À¶m H$mcH«$‘mZwgma ‘m§S>Ur H$am.  n¶m©¶r CÎmamVyZ ¶mo½¶ n¶m©¶ {ZdS>m.
i) H$cH$Îmm ii) gwaV iii) ‘Ðmg iv) ~m°å~o
n¶m©¶r CÎmao :
1) (i),(ii),(iii),(iv) 2) (iv),(i),(iii),(ii) 3) (ii),(iii),(iv),(i) 4) (ii),(iii),(i),(iv)

15) Arrange the following British trading centres in their chronological order. Choose correct answer option.

i) Calcutta ii) Surat iii)  Madras iv) Bombay

Answer options :

1) (i),(ii),(iii),(iv) 2) (iv),(i),(iii),(ii)  3) (ii),(iii),(iv),(i) 4) (ii),(iii),(i),(iv)

16) Imcrcn¡H$s H$moUVo KQ>H$ X¡{ZH$ d F$VynaËdo gm¡aD$O}Mr Vrd«Vm d à‘mU R>a{dVmV.
a) n¥ÏdrÀ¶m AmgmMm H$ccocm nUm b) {Xdg d amÌ à‘mU c) T>Jm§Mo à‘mU >d) gy¶© {H$aUm§Zr n¥ÏdrÀ¶m n¥ð>^mJmer Ho$cocm H$moZ
n¶m©¶r CÎmao :
1) (a) d (b) 2) (b) d (c) 3) (c) d (d) 4) darc gd©

16) Which of the following factors determine diurnal and seasonal variation in intensity and amount of solar

radiation?

a) Inclination of the axis of the earth b) Length of the day

c) Extent of clouds d) Angle of inclination of the Sun's rays

Answer options :

1) (a) and (b) 2) (b) and (c) 3) (c) and (d) 4) All the above

17) MoÞB©Odi "EÞmoa" ho ~§Xa Zì¶mZo {dH${gV Pmco Amho, ho XoemVrc ........ do ‘moR>o ~§Xa AgyZ nyd© {H$Zmè¶mdarc ....... do ‘moR>o
~§Xa Amho.
1) 6 d 12 2) 8 d 20 3) 12 d 6 4) 4 d 9

17) Newly developed 'Ennore' port near Chennai is the ...........th largest port in the country and .......... th largest

port on the eastern coast.

1) 6 and 12 2) 8 and 20 3) 12 and 6 4) 4 and 9

18) VrO hm qhXÿ gU Imcrcn¡H$s H$moUË¶m XodVog g‘{n©V Ho$cm OmVmo ?
1) cú‘r 2) gañdVr 3) nmd©Vr 4) XþJm©

18) Teej a Hindu festival is dedicated to which Goddess?

1) Lakshmi 2) Saraswati 3) Parvati 4) Durga

19) ¶mo½¶ OmoS>çm OwidyZ Imcrc n¶m©¶mn¡H$s ¶mo½¶ n¶m©¶ AmoiIm :
O‘mV     amÁ¶

a) A§Jm‘r i) PmaI§S>
b) H$moQ>m ii) Amgm‘
c) ‘w§S>m iii) {Zc{Jar nd©V (Vm{‘iZmSy>)
d) Nw>{V¶m iv) ZmJmc°§S>
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iv) (iii) (i) (ii)

2) (iii) (ii) (iv) (i)

3) (iv) (i) (iii) (ii)

4) (i) (iii) (iv) (ii)

19) Match the following pairs and choose the correct option from those given below :

Tribes States

a) Angami i) Zarkhand

b) Kota ii) Assam

c) Munda iii) Nilgiri mountain (Tamil Nadu)

d) Chutiya iv) Nagaland

Answer options :

(a) (b) (c) (d)

1) (iv) (iii) (i) (ii)
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2) (iii) (ii) (iv) (i)

3) (iv) (i) (iii) (ii)

4) (i) (iii) (iv) (ii)

20) J§JoÀ¶m ‘¡XmZr àXoemZo ̂ maVmVrc ........ Q> o̧$ cmoH$ gm‘mdyZ KoVco AmhoV.
1) 13 2) 23 3) 33 4) 43

20) The Ganga plains accommodate................... percent of population of India.

1) 13 2) 23 3) 33 4) 43

21) gZ 2009 ‘Yrc dZ gd}jUmZwgma OmñV Vo H$‘r dZjoÌ Aer amÁ¶m§Mr ‘m§S>Ur H$am :
a) AéUmMc àXoe b) ‘hmamï´> c) ‘Ü¶ àXoe >d) N>ÎmrgJS> >
n¶m©¶r CÎmao :
1) (c),(d),(a),(b) 2) (a),(c),(d),(b) 3) (d),(c),(b),(a) 4) (c),(a),(d),(b)

21) Arrange the following States in descending order of their forest area, according to forest survey report 2009.

a) Arunachal Pradesh b) Maharashtra c) Madhya Pradesh d) Chattisgarh

Answer options :

1) (c),(d),(a),(b) 2) (a),(c),(d),(b) 3) (d),(c),(b),(a) 4) (c),(a),(d),(b)

22) OmoS>çm Owidm Am{U Imcrc n¶m©¶m§n¡H$s ¶mo½¶ n¶m©¶ {ZdS>m.
ZXr Y~Y~m

a) eamdVr i) JmoH$mH$
b) H$mdoar ii) Mwcr¶m
c) KQ>à^m iii) {edg‘wÐ‘
d) M§~i iv) {Jagßnm

(a) (b) (c) (d)

1) (iv) (iii) (i) (ii)

2) (ii) (i) (iii) (iv)

3) (iv) (ii) (iii) (i)

4) (iii) (iv) (ii) (i)

22) Match the following the choose the correct option from those given below :

River Water fall

a) Sharavati i)  Gokak

b) Kaveri ii)  Chulia

c) Ghatprabha iii) Shivasamudram

d) Chambal iv) Girsappa

(a) (b) (c) (d)

1) (iv) (iii) (i) (ii)

2) (ii) (i) (iii) (iv)

3) (iv) (ii) (iii) (i)

4) (iii) (iv) (ii) (i)

23) Mhm hm MhmÀ¶m PmS>m§À¶m H$modù¶m nmZm§nmgyZ ~Zdcm OmVmo. Mm¶ZrO OJmVrc àW‘ Mhm {nUmao åhUyZ AmoiIco OmVmV.
B§J«Om§Zr 1829 ‘Ü¶o B©emÝ¶ ̂ maVmV Amgm‘ Mhm àW‘ emoYcm. OJmVrc cmoH${à¶ MhmMo àH$ma AmhoV :
a) ‘moR>çm nmZm§Mm Mm¶ZrO Mhm. b) chmZ nmZm§Mm Amgm‘ Mhm
n¶m©¶r CÎmao :
1) ’$º$ (a) ~amo~a      2) ’$º$ (b) ~amo~a     3) (a) d (b) XmoÝhr ~amo~a AmhoV    4) (a) d (b) XmoÝhr ~amo~a ZmhrV.

23) Tea is made from young leaves of the tea plant. Chinese were the earliest tea drinkers in the world. The British

firs discovered the Assam tea in 1829 in the forest of North-East India. The popular brands in the world are :

a) Large leaved China tea b) Small leaved Assam tea

Answer options

1) Only (a) is correct 2) Only (b) is correct 3) Both (a) and (b) are correct 4) Neither (a) nor (b) is correct
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24) nwT>rc XmoZ {dYmZm§Mm {dMma H$am.
A) XmoÝhr AY©JmocmV 100 Vo 200 Ajm§emV dmid§Q> AmhoV.
B) 100 Vo 200 Ajm§emV nmdgmnojm ~mînoMo à‘mU A{YH$ Amho.
n¶m©¶r CÎmao :
1) XmoÝhr (A) d (B) Iao AmhoV d (B) ho (A) Mo H$maU Amho.
2) XmoÝhr (A) d (B) d Iao AmhoV na§Vw (B) ho (A) Mo H$maU Zmhr.
3) Ho$di (A) Iao Amho. 4) Ho$di (B) Iao Amho.

24) Consider the following two statements :

A) There are deserts between 100 and 200 latitudes in both the hemispheres.

B) Between 100 and  200 latitudes evaporation exceeds precipitation.

Answer options :

1) Both (A) and (B) are true and (B) is the reason for (A)

2) Both (A) and (B) are true and (B) is not the reason for (A)

3) Only (A) is true 4) Only (B) is true

25) OmoS>çm cmdm.
ñV§̂  A          ñV§̂  B

a) Q>moZ{H$ZMo AmImV i) AmH©${Q>H$ ‘hmgmJa
b) n{e©¶mMo AmImV ii) {MZr g‘wÐ
c) AH$m~mMo AmImV iii) qhXr ‘hmgmJa
d) Amo~Mo AmImV iv) Vm§~S>m g‘wÐ

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (ii) (i) (iv)

3) (ii) (i) (iv) (iii)

4) (iv) (iii) (ii) (i)

25) Match the following :

Column A Column B

a) Gulf of Tonkin i) Arctic Ocean

b) Parsian Gulf ii) China Sea

c) Gulf of Aquaba iii) Indian Ocean

d) Gult of Ob iv) Red sea

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (ii) (i) (iv)

3) (ii) (i) (iv) (iii)

4) (iv) (iii) (ii) (i)

26) OmoS>çm OwidyZ ¶mo½¶ n¶m©¶ emoYm.
ñWcm§V[aV eoVr     amÁ¶

a)  Py‘ i)  N>ÎmrgJS>
b)  nmoSy> ii)  Ho$ai
c)  nmoU‘ iii)  Amgm‘
d)  X{h¶m iv)  Am§Y« àXoe

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iii) (iv) (i)

3) (iii) (iv) (ii) (i)

4) (iv) (ii) (i) (iii)
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26) Match the following and choose the correct option from those given below :

Shifting cultivation State

a)  Jhum i)  Chattisgarh

b)  Podu ii)  Keral

c)  Ponam iii) Assam

d) Dahiya iv)  Andhra Pradesh

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iii) (iv) (i)

3) (iii) (iv) (ii) (i)

4) (iv) (ii) (i) (iii)

27) Imcrcn¡H$s H$moUVr Q>oH$S>r nyd© Am{U npíM‘ KmQ>mg OmoS>Vo ?
1) {~cr{Jar 2) {Zc{Jar 3) {Z‘{Jar 4) Z„m‘mcm

27) Which of the following hills connect Eastern and Western Ghats?

1) Biligiri 2) Nilgiri 3) Nimgiri 4) Nallamala

28) OmoS>çm cmdm.
ñV§̂  A       ñV§̂  B

a) hdmB©Mm àH$ma i)  ‘moR>çm doJmZo C’$miVmo
b) ñQ́>m|~mo{c¶Z àH$ma ii)  A{V àjmô H$
c) ìhëH°{Z`Z àH$ma iii)  em§VnUo C’$miVmo
d) nocr¶Z àH$ma iv)  gVV C’$miVmo

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (iv) (i) (ii)

3) (i) (ii) (iv) (iii)

4) (ii) (i) (iii) (iv)

28) Match the following :

Column  A Column B

a) Hawaiian Type i)  Erupt with great force

b) Strombolian ii)  Most violent
c) Vulcanian iii)  Erupt quietly

d) Peleean Type iv)  Erupt continuously

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (iv) (i) (ii)

3) (i) (ii) (iv) (iii)

4) (ii) (i) (iii) (iv)

29) nwT>rc XmoZ {dYmZm§Mm {dMma H$am.
a) CîU H${Q>~§Yr¶ gXmh[aV dZo : EH$m {d{eï> OmVrMr {dIwacocr PmS>o CXm. {egd.
b) CîUH${Q>~§Yr¶ H$XmnUu dZo : PmS>m§À¶m àOmVr H$‘r na§Vw EH$‘oH$m§À¶m Odi CXm. gmJ.        AmVm gm§Jm H$s :
1) Ho$di (a) ~amo~a Amho 2) Ho$di (b) ~amo~a Amho
3) (a) d (b) XmoÝhr ~amo~a AmhoV 4) (a) d (b) XmoÝhr ~amo~a ZmhrV.

29) Consider the following two statements :

a) Tropical Evergreen forest

b) Tropical Deciduous Forests : They have fewer species but they are found in close proximity eg. Teak.

Now state whether :

1) Only (a) is true     2) Only (b) is true          3) Both (a) and (b) are true 4) Neither (a) nor (b) is true

30) nwT>rc H$moUVo {dYmZ MwH$sMo Amho ?
a) Mm¡W : ‘amR>çm§Zr Ë¶m§À¶m amÁ¶mÀ¶m ~mhoarc joÌmVyZ {‘idcocm H$a ‘wKc gm‘«mÁ¶mcm {Xë¶m OmUmè¶m ‘hgwcmÀ`m EH$

MVwWmªe
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b) gaXoe‘wIr : ‘amR>çm§Zr O‘rZ ‘hgwcmÀ`m EH$ Xem§e cmdcocm H$a.
c) {‘gc : amOnwVm§Vrc amOH$s¶ KQ>H$ àË¶oH$ Ho$di Amnë¶m nwT>mè¶mcm ‘mZUmao.
n¶m©¶r CÎmao :
1) ’$º$ (a) 2) (b) d (c) 3) ’$º$ (c) 4) EH$hr Zmhr

30) Which of the following statement is incorrect?

a) Chauth : Tax realised by Marathas from the areas outside their domain-equal to one fourth of the revenue

paid to the Mughal Empire.

b) Sardeshmukhi : tax realised by the Marathas equal to one tenth of the land revenue.

c) Misl : Political unit among the Rajputs, each loyal to its own particular leader.

Answer options :

1) Only (a) 2) (b) and (c) 3) Only (c) 4) None

31) nanmofr Ordm§‘Yrc ‘w»¶V: gyú‘Ord d ~waer ‘¥V noerÐì¶mVrc p³cï> g§¶wJo VmoSy>Z Ë¶mMo gmoß¶m KQ>H$mV ê$nm§Va H$aVmV
Oo BVa Ordm§Zm Cn¶wº$ R>aVmV Ë¶m nanmofrOrdm§Zm ........ åhUVmV.
1) ñd¶§nmofr 2) {dKQ>H$ 3) ̂ jH$ 4) {‘lhmar

31) Heterotrophic organisms, chiefly bacteria and fungi that breakdown the complex compound of dead protoplasm

and release simple usable substances of other organisms are :

1) Autotrophs 2) Decomposers 3) Consumers 4) Omnivorous

32) ^maVmVrc gdm©V n{hco amḯ>r¶ CÚmZ ......... ho hmo¶.
1) {O‘ H$m°~}Q> 2) g§O¶ Jm§Yr 3) Jra 4) H$mÝhm

32) The First National Park established in India was ........

1) Jim Corbett 2) Sanjay Gandhi 3) Gir 4) Kanha

33) ‘mZdr earam‘Ü¶o nmè¶mÀ¶m g§M¶Zm‘wio ......... hm AmOma hmoVmo.
1) B©Q>mB©-B©Q>mB© 2) {‘W°Zmo½cmo{~{Z{‘¶m 3) {‘Zm‘mQ>m 4) nmo{cAmo

33) Accumulation of mercury into human body leads to .........disease.

1) Itai-itai          2) Methaemoglobinanemia 3) Minamata 4) Polio

34) AÞgmIir‘Ü¶o àË¶oH$ D$Om©ñVamda {dfmar nXmWmªÀ¶m à‘mUmV gcJ hmoUmè¶m dmT>rg ........ åhUVmV.
1) O¡d{ZåZrH$aU 2) O¡dAmdY©Z 3) O¡dg§M¶Z 4) O¡dCnMmarH$aU

34) The Continuous increase in concentration of a toxicant at successive trophic levels in food chain is :

1) Biodegradation 2) Biomagnification 3) Bioaccumulation 4) Bioremediation

35) H$moUË¶m dm ỳ‘wio ‘w»¶Ëdo AmoPmoZ WamMm èhmg hmoVmo ?
1) H$m~©Z S>m¶ Am°³gmBS> 2) Zm¶Q´>moOZ S>m¶ Am°ŠgmBS> 3) {‘WoZ 4) ³cmoamo’$ë¶yamo H$m~©Z

35) The main gas responsible for zone depletion is :

1) Carbon dioxide 2) Nitrogen dioxide 3) Methane 4) Chloro fluro carbon

36) 2000 gmcÀ¶m amï´>r¶ cmoH$g§»¶m YmoaUmMo XrK©H$mcrZ C{Ôï> pñWa cmoH$g§»¶m gmÜ¶ H$aUo Amho. Imcrcn¡H$s H$moUË¶m
dfm©V ho C{Ôï> gmÜ¶ H$amd¶mMo Amho ?
1) 2015 2) 2025 3) 2035 4) 2045

36) The long term objective of population policy 2000 is to achieve stable population. During which of the

following years this objective is targeted to be achieved?

1) 2015 2) 2025 3) 2035 4) 2045

37) ŷgwYmaUm§‘wio {Vhoar ({VZnÅ>r) H«$m§Vr KSy>Z Amcr Imcrcn¡H$s ¶mo½¶ n¶m©¶ {ZdS>m.
1) gm§ñH¥${VH$, amOH$s¶, Vm§{ÌH$ 2) amOH$s¶, gm‘m{OH$, dm{UÁ¶ 3) Am{W©H$, amOH$s¶, gm§ñH¥${VH$ 4) ¶mn¡H$s Zmhr

37) Land reforms promote triple revolution. Choose the correct option from the following.

1) Cultural, Political, Technological 2) Political, Social, Commercial

3) Economic, Political, Cultural 4) None of these

38) d¥̧ $ gm‘y {Z¶§{ÌV H$emÀ¶m ‘XVrZo H$aVmV ?
1) JiU ‘Ü¶o H 

+
ions  {‘idyZ 2) aº$m‘YyZ H

+
 ions H$mTy>Z

3) Ca
++

 Am{U Na
+
ions aº$m‘Ü¶o {daKidyZ 4) Ca

++
 ions aº$m‘YyZ H$mTy>Z
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38) Kidneys are helping to maintain pH balance by which of the following?

1) Adding hydrogen ions to filtrate   2) Removal of hydrogen ions from blood

3) Dissolving calcium and sodium ions in blood   4) Removing carbonate ions from blood

39) 2011 À¶m OZJUZoà‘mUo ̂ maVmVrc {H$Vr eham§Mr cmoH$g§»¶m 10 cmImnojm OmñV Amho ?
1) 52 2) 53 3) 54 4) 55

39) According to 2011 census how many cities in India have more than 1 million population?

1) 52 2) 53 3) 54 4) 55

40) dZñnVt‘Ü¶o H$moUVo {dH$ma OmñV à‘mUmV AmT>iVo ?
1) {~Q>m J°c°³Q>mogmBS>oO 2) Ama¶w~rnr H$ma~m°³grcoO 3) E§Q>oamoH$m¶ZoO 4) hoQ>amoH$m¶ZoO

40) In plant, which enzyme is found in largest quantity?

1) β galactosidase 2) RuBP carboxylase 3) Enterokinase 4) Heterokinase

41) 2011 À¶m OZJUZoZwgma 2001 Vo 2011 Xaå¶mZMr ór, gmjaVm XamVrc dmT> Imcrcn¡H$s {H$Vr hmoVr ?
1) 53.7 % Vo 65.5% 2) 54.1% Vo 67.2% 3)52.3% Vo 64.4% 4) 55.3% Vo 63.2%

41) As per the 2011 census what was the rate of improvement in female literacy during 2001 to 2011?

1) 53.7 % to 65.5% 2) 54.1% to 67.2% 3) 52.3% to 64.4% 4) 55.3% to 63.2%

42) A‘Ë¶© goZ Am{U JmD$coQ> S>r. ¶m§Zr dU©Z Ho$cocr {dH$mgmMr ‘hÎdmMr ‘yë¶o H$moUVr ? Imcrcn¡H$s ¶mo½¶ n¶m©¶ {ZdS>m.
1) CnOr{dH$m, ñdV:~Ôc AmXa, ñdmV§Í¶, j‘Vm, A{YH$ma/h¸$ 2) Amamo½¶, ̂ aUnmofU, {ejU, j‘Vm, A{YH$ma/h¸$
3) AÞ, dó, {Zdmam, {nÊ¶mMo nmUr, ñdÀN>Vm 4) amï´>r¶ CËnÞ dmT>, Xa S>moB© CËnÞ, ‘yc ŷV JaOm, ñdmV§Í¶, {ejU

42) What are the core values of development as described by Amartya Sen and Goulet D?

1) Sustenance, self esteem, freedom, capabilities, entitlement.

2) Health, nutrition, education, capabilities, entitlement. 3) Food, clothing, shelter, drinking water, sanitation.

4) Increase in national income, per capita income, basic needs, freedom, education

43) 2011 À¶m ‘mZdr {dH$mg AhdmcmZo 109 Xoem§Mm ~hþAm¶m‘r Xm[aÐç {ZX}em§H$mMm A§XmO gmXa Ho$cm. Ë¶m AhdmcmZwgma
¶m Xoem§Vrc {H$Vr à‘mUmV cmoH$g§»¶m ~hþAm¶m‘r Xm[aÐç AZŵ drV Amho?
1) 1/2 2) 1/3 3) 1/4 4) 1/5

43) Human development report of 2011, presented Multidimensional Poverty Index (MPI) estimates of 109 countries.

What proportion of population according to this report, in these countries experience multidimensional

poverty?

1) 1/2 2) 1/3 3) 1/4 4) 1/5

44) Am°p³gídgZmÀ¶m eodQ>r H$m¶ V¶ma hmoVo.
1) gr. Amo.

2
 + gr. Amo. (Co

2
+CO) 2) gr. Amo.

2
 + EZ. Amo. (Co

2
+NO)

3) gr. Amo.
2
 + Amo.

2
 (Co

2
+O

2
) 4) gr. Amo.

2
 + EM.

2
 Amo. (CO

2
+H

2
O)

44) The end product of aerobic respiration is :

1) (Co
2
+ CO) 2) (Co

2
+ NO) 3) (Co

2
+ O

2
) 4)  (CO

2
+H

2
O)

45) Imcrc n¶m©¶mVyZ "'‘mëWgMm cmoH$g§»¶oMm gmnim"" Á¶mÀ¶mer g§~§{YV Amho Vmo n¶m©¶ {ZdS>m.
1) cmoH$g§»¶m dmT> Am{U gH$mamË‘H$ {Z¶§ÌU 2) cmoH$g§»¶m dmT> Am{U à{V~§YmË‘H$ {Z¶§ÌU
3) cmoH$g§»¶m dmT> Am{U {dH$mg 4) cmoH$g§»¶m dmT> Am{U OZZj‘Vm

45) Choose from the following options what the "Malthusian Population Trap" is related to :

1) Population growth and positive checks 2) Population growth and preventive checks

3) Population growth and development 4) Population growth and fertility

46) {g{cH$m°Z ìh°cr, H°{c’$mo{Z©̀ m, ¶y.Eg.E. ho AmOÀ¶m OJmVrc gdm©V ‘moR>çm gm¶Ýg CÚmZm§n¡H$s EH$ Amho H$maU VoWo eoH$S>mo
hm¶Q>oH$ ‘m{hVr V§ÌkmZ CÚmoJ dgcoco AmhoV. {g{cH$m°Z ìh°cr ~m~VÀ¶m nwT>rc XmoZ {dYmZm§n¡H$s H$moUVo ~amo~a Amho?
A) H$Yr H$mir {g{cH$m°Z ìh°crcm ""ìh°cr Am°’$ hmQ>©g² {S>cmBQ>"" åhQ>co Om¶Mo.
B) Ago åhQ>co Om¶Mo H$maU VoWo eoH$S>mo-{Z-hOmamo ’w$cm§À¶m àOmVr ’w$cm¶À¶m !
1) Ho$di (A) 2) Ho$di (B) 3) (A) d (B) XmoÝhr 4) (A) d (B) XmoÝhrhr Zmhr.

46) Silicon Valley, California, United States is one of the greatest Science parks in the world today as it contains

hundreds of hightech information technology industries. Which of the following two statements about the

Silicon Valley is correct?
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A) Silico Valley was once called the "Valley of Heats's Delight".

B) It was so called because hundreds and thousands of varieties of flowers bloomed therein.

1) Only  (A) 2) Only (B) 3) Both (A) and (B) 4) Neither (A) nor (B)

47) ~m§Jcm Xoem‘Yrc MH«$sdmXi OJmVrc gdm©V ̂ rfU Z¡g{J©H$ XþK©Q>Zm§n¡H$s EH$ Amho. gw‘mao 3,00,000 cmoH$m§Zr Amnco àmU
J‘mdco, Ago åhUVmV. ~m§Jcm Xoem‘Ü¶o, åhUOo Ë¶mdoiÀ¶m nyd© nm{H$ñVmZmV hr XþK©Q>Zm H$Yr KS>cr ?
1) 1970 2) 1960 3) 1950 4) 1940

47) One of the worst natural disasters of the World was the cyclone struck in Bangladesh. As many as 3,00, 000

people, lost their lives, it is said. When did the disaster struck Bangladesh, then East Pakistan?

1) 1970 2) 1960 3) 1950 4) 1940

48) OyZ 2012 ‘Yrc emídV {dH$mgmgmR>rMr [a¶mo + 20 n[afX "{hadr AW©ì¶dñWm" àmê$nmMr g‘W©H$ hmoVr. Imcrcn¡H$s
H$moUË¶m coIH$m§À¶m nwñVH$mV "{haì¶m AW©ì¶dñWo" Mr g§km aMcr Jocr ?
1) A‘Ë¶© goZ, S>r. ’«$sS>‘Z, g°å¶wAëgZ 2) S>r. {nAg©, E. ‘mH©$§S>o¶, B. ~ma~rAa
3) Am¶. H$m{Xa, S>ãcy, ~oar, EZ, hmQ>oH$a 4) S>r. J«rZ~J©, Oo. Q>oca, pñ‘S²>W

48) The June 2012, Rio + 20 conference on sustainable development advocated the "green economy" model. In

whose book the term 'green economy' was coined?

1) Amartya Sen, D. Friedman, Samuelsan 2)  D. Pearce, A. Markandya, E. Barbier

3) I. Quadeer, W. Berry, N. Hatekar 4)  D. Greenberg, J Taylor, Schmidth

49) ao{S>Amo Va§JmMm doJ hm ...... AgVmo.
1) àH$memÀ¶m doJmnojm OmñV 2) àH$memÀ¶m doJm EdT>mM 3) àH$memÀ¶m doJmnojm H$‘r 4) àH$memÀ¶m doJmÀ¶m XmoZ nQ>

49) The velocity of radio waves is ........

1) Greater than velocity of light 2) As that of velocity of light

3) Less than velocity of light 4) Exactly double the velocity of light

50) Imcrcn¡H$s H$moUVo df© ho ̂ maVmVrc n¶m©daUmg§~§Yr d¡Ym{ZH$ H$madmB©gmR>r EH$ ‘hÎdmMr IyU åhUyZ ‘mZco OmVo; Ooìhm
amï´>r¶ n¶m©daU {Z¶moOZ Am{U g‘Ýd¶ g{‘VrMr ñWmnZm Pmcr ?
1) 1973 2) 1971 3) 1972 4) 1974

50) Which of the following is considered as a land mark year in the history of legislative action in India for

environment concerns during which National Committee for Environment Planning and Coordination (NCEPC)

was set up?

1) 1973 2) 1971 3) 1972 4) 1974

51) Am°pŠgOZ {ZgJm©V {H$Vr Am¶gmoQ>moßg‘Ü¶o AmT>iVmo?
1) 2 2) 3 3) 4 4) 1

51) Oxygen occurs in nature in ............ isotopic forms.

1) 2 2) 3 3) 4 4) 1

52) "am‘Z n[aUm‘" H$emg åhUVmV ?
1) ’$moQ>m°ZÀ¶m Bco³Q´>m°Zer hmoUmè¶m AàË¶mñW g§KmVmg. 2) ’$moQ>m°ZÀ¶m Bco³Q´>m°Zer hmoUmè¶m àË¶mñW g§KmVmg.
3) ’$moQ>m°ZÀ¶m aoUyer hmoUmè¶m AàË¶mñW g§KmVmg. 4) ’$moQ>m°ZÀ¶m aoUyer hmoUmè¶m àË¶mñW g§KmVmg.

52) Raman effect is due to :

1) Inelastic collision of photon with e − 2) Elastic collision of photon with e−

3) Inelastic collision of photon with molecule 4) Elastic collision of photon with molecule

53) Oa EImXr OS> dñVy {j{VO g‘m§Va {XeoZo JwiJwirV n¥ð>^mJmdê$Z AmoT>cr, Va Ë¶m dñVyda {H«$¶m H$aUmao ~c
Imcrcà‘mUo Agoc.
a) {j{VO g‘m§Va {XeoZo à¶wº$ Ho$coco ~c b) c§~énr AYmoJm‘r {XeoZo {H«$¶m H$aUmao JwéËdr¶ ~c
c) ñWmZm§VamÀ¶m {déÕ {XeoZo H$m¶© H$aUmao Kf©U ~c d) CÜd©Jm‘r {XeoZo H$m¶© H$aUmao à{V{H«$¶m ~c.
darcn¡H$s H$moUVr {dYmZo gË¶ AmhoV ?
1) (a) Am{U (b) 2) (a),(b),(c) Am{U (d) 3) (b),(c) Am{U (d) 4) (a),(b) Am{U (c)

53) If a heavy load is pulled along a smooth horizontal surface, then the force acting on the load may be :

a) The applied force in the horizontal direction.

b) The force of gravity acting on the load vertically downwards.
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c) The force of friction acting in the horizontal direction opposite the motion.

d) Reaction force due to the horizontal surface.

Which of the above statements are true?

1) (a) and (b) 2) (a), (b), (c) and (d) 3) (b), (c) and (d) 4) (a), (b) and (c)

54) Imcrcn¡H$s ¶mo½¶ dm³¶m§Mr {ZdS> H$am.
a) Üd{Zchar dm¶y nXmWm©nojm ñWm¶y nXmWm©VyZ doJmZo OmVmV.b) Üd{Zchar {Zdm©V nmoH$irVyZ gdm©V OcX JVrZo OmVmV.
c) Üd{Zchar AZwc§~ char AmhoV d) Üd{Zchar Ðd nXmWm©nojm dm¶y nXmWm©VyZ H$‘r doJmZo OmVmV.>
1) (a),(c) Am{U (d) ’$º$    2) (a) Am{U (b) ’$º$ 3) (c) Am{U (d) ’$º$ 4) (b) Am{U (d) ’$º$

54) Choose correct statements from the following :

a) Sound waves travel faster in solids than in gases. b) Sound waves travel fastest through vaccum.

c) Sound waves are longitudinal waves d) Sound waves travel slower in gases than in liquids.

1) (a),(c) and (d) only 2) (a) and (b)only 3) (c) and (d) only  4) (b) and (d) only

55) A{VcKy ao{S>AmoVa§J ̂ Å>rMo (2.45 GHz {’«$¹o$Ýgr) ’$m¶Xo H$m¶ AmhoV ?
a) Ë¶mMo‘Ü¶o Ádmcm ZmhrV b) nXmWm©Vrc nm¡{ï>H$Vm H$‘r à‘mUmV Zï> hmoVo.
c) AÞnXmWm©‘Ü¶o ̂ m¡{VH$ ~Xc KS>Vmo. >d) {ZOªVwH$sH$aU hmoVo.
1) (a),(c) Am{U (d) 2) (a),(b) Am{U (c) 3) (b),(c) Am{U (d) 4) (c) Am{U (d)

55) What are the advantages of Microwaves oven having microwave frequency of 2.45 GHz?

a) There are no flames 2) Destruction of nutrients is less

c) There is a physical change in foods 4) Sterilization effected

1) (a),(c) and (d) 2) (a),(b) and (c) 3) (b),(c) and  (d) 4) (c) and (d)

56) Imcrcn¡H$s H$m~©ZMo A°cmoQ´>m°n Hw$R>co Vo gm§Jm ?
a) H$m~©Z hcmB©S²>g b) S>m¶‘§S> c) ’w$boarÝg d) J«m’$mB©Q>          e) H°$Am°BQ>
1) gd© n¶m©¶ ¶mo½¶ 2) (b),(c),(d) 3) (a),(b),(c) 4) (a),(b),(d)

56) The allotropes of carbon are :

a) Carbon halides b) Diamond c) Fullerenes d) Graphite                e) Chaoite

1) Carbon halides 2) (b),(c),(d) 3) (a),(b),(c) 4) (a),(b),(d)

57) Imcrcn¡H$s {dg§JV n¶m©¶ H$moUVm ?
1) àJ§{S>H$m 2) C{d©H$m 3) ~hràH$moð> 4) A§g’$cH$

57) Spot the odd one out?

1) Humerus 2) Femur 3) Radius 4) Scapula

58) H$moUVr àmUr noer ‘oXmMo g§ícofU g§J«hU Am{U M¶mnM¶ H$aVo ?
1) A{^ñVa D$Vr 2) ‘oX  D$Vr 3) ¶moOr D$Vr 4) ñZm¶y D$Vr

58) Which animal tissue synthesizes, stores and metabolizes fat?

1) Epithelial tissue 2) Adipose tissue 3) Connective tissue 4) Muscle tissue

59) dZñnVtZm {ÛZm‘ nÕVr H$moUË¶m dZñnVr emókmZo gwé Ho$cr ?
1) ~ogo 2) ~|W‘ Am{U hþH$a 3) H$mc©g² {c{ZAg 4) {WAmo’«$mñQ>g

59) Which Botanist introduced the 'Bionomial' nomenclature to the plants?

1) Bessey 2) Bentham and Hooker 3) Carolus Linnaeus 4) Theophrastus

60) {dfmUy (ìhm¶ag) ......... AgVmV.
1) EH$noer¶ Ord 2) noer{^Îmra{hV noer 3) ~hþnoer` Ord 4) Anoer¶ Ord

60) Viruses are :

1) Unicellular       2) Cellular without cell wall       3) Multicellular Organisms      4) Non-cellular Organisms

61) ẁ[a`m Mo dhZ H$moU H$aVo ?
1) OrdÐì¶ + aº$   2) aº$+Am°pŠgOZ   3) Vm§~S>çm aº$ noer + H$m~©Z S>m¶ Am°ŠgmBS>  4) nm§T>è¶m aº$ noer + cmi

61) Urea is transported by :

1) Plasma + Blood 2) Blood + O
2

3) RBC + CO
2

4) WBC + Salivam
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62) ’w$cm§‘Yrc Amdí¶H$ ‘§S>i H$moUVo ?
1) {ZXc Am{U n[aXc 2) {ZXc Am{U Xc 3) nw‘§J Am{U Om¶m§J 4) {ZXc nw§O Am{U nw§Ho$ga

62) Which of the following are essential whorls of the flowers?

1) Sepal and Tepal 2) Sepal and Petal 3) Androecium and Gynoecium  4) Calyx and Stamens

63) Imcrcn¡H$s Hw$R>co {dYmZ gË¶ Amho ?
a) B§{S>Jmo ãë ỳ hm Z¡g{J©H$ a§J Amho. b) A°{cParZ hm H¥${Ì‘ a§J Amho.
1) XmoÝhr gË¶ 2) (a) gË¶, (b) AgË¶ 3) (a) AgË¶, (b) gË¶ 4) XmoÝhr AgË¶

63) Which of the following statements is true?

a) Indigo- blue is a natural dye. b) Alizarin is a synthetic dye.

1) Both true 2) (a) true, (b) false 3) (a) false, (b) true 4) Both false

64) à{WZm§À¶m {Z{‘©VrV Hw$R>ë¶m RNA Mo ‘hÎdmMo H$m¶© Amho?
1) mRNA 2) t RNA 3)i RNA 4) r RNA

64) In protein synthesis, which RNA plays an important role?

1) mRNA 2) t RNA 3) i RNA 4) r RNA

65) {g‘|Q>Mr {Z{‘©Vr hr Imcrcn¡H$s Hw$R>ë¶m KQ>H$m§nmgyZ Pmcocr Amho ?
1) CaO-SiO2 - Al

2
O

3
2) CaO-Al

2
O

3
 - MgO 3) SiO

2
-Al

2
O

3
 -AlCl

5
4) CaO-SiO

2
 - AlCl

3

65) The composition of cement is :

1) CaO-SiO2 - Al
2
O

3
2) CaO-Al

2
O

3
 - MgO 3) SiO

2
-Al

2
O

3
 -AlCl

5
4) CaO-SiO

2
 - AlCl

3

66) gwH«$moOMo nmÊ¶m~amo~a g§¶moJ hmoD$Z n¥W:¸$aU Pmë¶mg g‘à‘mUmV Hw$R>co {‘lU V¶ma hmoVo ?
1) ½cwH$moO Am{U am¶~moO   2) ’«w$³Q>moO Am{U am`~moO 3) ½cwH$moO Am{U ’«w$ŠQ>moO 4) c°³Q>moO Am{U ‘mëQ>moO

66) Upon hydrolysis, sucrose yields equimolar mixture of :

1) Glucose and ribose 2) Fructose and ribose 3) Glucose and fructose     4) Lactose and maltose

67) Zm¶Q´>moOZ pñWarH$aUm‘Ü¶o ‘yc ŷV JaOoMo KQ>H$ Z‘yX H$am.
a) Zm¶Q́>moOZ b) ’o$aS>m°³PrZ c) EQ>rnr >d) EAamo{~H$ H§${S>eZ
1) gd© n¶m©¶ ¶mo½¶ 2) (a),(b),(c) 3) (a),(b),(d) 4) (a),(c),(d)

67) The fundamental requirement for nitrogen fixation are :

a) Nitrogenase b) Ferredoxin c) ATP d) Aerobic conditions

1) All the above 2) (a),(b),(c) 3) (a),(b),(d) 4) (a),(c),(d)

68) Imcrc {dYmZm§Mr gË¶Vm nS>Vmim.
"AÞ g§ajU g{‘Vr" àH$meZ 398 Ûmam amgm¶{ZH$ nXmWm©À¶m AÞà{H«$¶oVrc dmnamg§~§Yr Imcrc ‘mJ©Xe©H$ VÎdo {Xcocr
AmhoV. Ë¶m§Mr gË¶Vm nS>Vmim.
a) AÞmMo gÎd {Q>H${dÊ¶mgmR>r A°ÝQ>rAm°³grS>§Q>Mm dmna    b) AÞ {Q>H$dyZ R>odÊ¶mgmR>r A°ÝQ>r‘m¶H«$mo{~Ac d BZQ>© J°gMm dmna.
c) a§J d Md XoUmè¶m nXmWmªMm dmna H$éZ AÞmMo gwemô rH$aU H$aUo.
>d) AÞ à{H«$¶oV ~’$g© Mm dmna H$aUo.
1) gd© {dYmZo gË¶ AmhoV     2) (a),(b),(c) gË¶ 3) (a) Am{U (d) gË¶ 4) gd© {dYmZo AgË¶ AmhoV.

68) Which of the following statements are true? The guidelines for "the use of chemical additives in food

processing? by Food Protection Committee in publication 398 include :

a) Use of antioxidants to maintain nutritional value

b) Use of anti microbial agents and inert gases for food stability.

c) Use of colouring and flavouring agents to enhance the attractiveness.

d) Use of buffers in food processing.

1) All are true 2)  (a),(b),(c) are  true 3) (a) and (d) are true 4) All are false

69) S>rEZE‘Ü¶o Wm¶‘rZ hm Zoh‘r Hw$R>ë¶m A‘m¶Zmo A°{gS>er OmoS>r ~Z{dVmo ?
1) A°S>oZmB©Z 2) gm¶Q>mogrZ 3) ½dmZrZ 4) Wm¶‘rZ

69) In DNA, thymine always pairs with..........

1) Adenine 2) Cytosine 3) Guanine 4) Thymine
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70) H$moUVo {‘lU Zmhr ?
1) nmUr 2) hdm 3) ‘mVr 4) ISy>

70) What is not a mixture?

1) Water 2) Air 3) Soil 4) Chalk

71) ñdV§Ì ̂ maVmV Imcrcn¡H$s H$moUVr H$m¶Xoera VaVyX AmnUmg J«m‘rU gm‘m{OH$, Am{W©H$ g‘dmQ>Ur Ý¶m¶ XoÊ¶mÀ¶m Ñï>rZo
gdm©V à^mdr dmQ>Vo ?
1) dZ h¸$ H$m¶Xm   2) eoVO‘rZ Hy$i H$m¶Xm     3) H¥$fr H$‘mc O‘rZ YmaUm H$m¶Xm     4) H$O©‘wº$s H$m¶Xm

71) Which of the following statutory provisions will you view as the most effective instrument of rural socio-

economic distribution justice in the independent India?

1) Forest Rights Act     2) Agricultural Tenancy Act     3) Agricultural Land Ceiling Act   4) Debt Relief Act

72) H$mhr Z¡g{J©H$arË`m AmT>iUmao acids (Amåc) Ë¶m§À¶m òmoVmgh {Xcoco AmhoV.
MwH$sMr OmoS>r AmoiIm :
a) {ìhZoJa - A°{g{Q>H$ A°{gS>   b) g§Ìr - gm¶{Q´>H$ A°{gS> c) qMM- Q>maQ>m[aH$ A°{gS> >d) Q>mo‘°Q>mo - Am°³P°{cH$ A°{gS>
e) Am§~Q> XÿY (Xhr) - c°p³Q>H$ A°{gS> f) qc~y - gm¶[Q´>H$ A°{gS>
g) H$sQ>H$mMm S>§I - ‘oW°Zm°BH$ A°{gS>> >h) ZoQ>cMm S>§I - gëâ¶w[aH$ A°{gS>
1) (c) 2) (d) 3) (g) 4) (h)

72) Some naturally occurring acids are given below with their sources.

Identify the incorrect pair :

a) Vinegar - Acetic acid b) Oranges - Citric acid c) Tamarind - Tartaric acid d) Tomatoes - Oxalic acid

e) Sour milk (curds) - Lactic acid f) Lemons - Citric acids

g) Anti sting - Methanoic acid h) Nettle sting - Sulphuric acid

1) (c) 2) (d) 3) (g) 4) (h)

73) Imcrc {dYmZo nhm :
a) cmoH$g ô‘Ü¶o nm[aV Z Pmcoco, na§Vw amÁ¶g ôV àc§{~V {dYo¶H$, cmoH$g^m {dg{O©V Pmë¶mg ì¶nJV hmoVo.
b) gXZo g§ñW{JV Pmë¶mg g§gXoVrc àc§{~V {dYo¶Ho$ ì¶nJV hmoVmV.
darcn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/V ?
1) ’$º$ (a)        2) (a) Zmhr Am{U (b) gwÕm Zmhr    3) (a) Zmhr (b) XmoÝhr 4) ’$º$ (b)

73) Consider the following statements :

a) Bill pending in the Rajya Sabha which has not been passed by the Lok Sabha shall lapse on dissolution

of the Lok Sabha.

b) A Bill pending in Parliament shall lapse by reason of Prorogation of the houses.

Which of the statements/s given above is/are correct?

1) Only  (a) 2) Neither (a) nor (b) 3)  Both (a) and (b) 4) Only (b)

74) Imcrcn¡H$s H$moUË¶m KQ>ZmXþéñVrÛmao amOH$s¶ njm§Vamda A§Hw$e AmUÊ¶mMm à¶ËZ Pmcm ?
1) 42 dr 2) 52 dr 3) 62 dr 4) 70 dr

74) Which one of the following amendments to the Constitution of India sought to curb political defections?

1) 42 nd 2) 52 nd 3) 62 nd 4) 70 th

75) nwT>rc XmoZ {dYmZm§Mm {dMma H$am :
a) Amnë¶m nmoQ>mV hm¶S´>mo³cmo[aH$ A°{gS> {Z‘m©U hmoVo Vo nMZ{H«$¶og ‘XV H$aVo. AnMZmV nmoQ>mV A{YH$ A°{gS> {Z‘m©U

hmoVo Á¶mZo nmoQ> XþIm¶cm cmJVo d ‘mUyg AñdñW hmoVmo.
b) ‘°¾o{e¶‘ hm¶S´>m°³gmBS> ({‘ëH$ Am°’$ ‘°¾o{e¶m) Mm dmna Aem doir Ho$cm OmVmo Oo EH$ AZ°cOo{gH$ Amho.
H$moUVo dm³¶ nyU©nUo ~amo~a Amho ?
1) Ho$di (a) 2) Ho$di (b) 3) (a) d (b) XmoÝhr 4) (a) d (b) XmoÝhrhr Zmhr

75) Consider the following two statements :

a) Our stomach produces hydrochloric acid. It helps in digestion of food. During indigestion the stomach

produces too much acid causing pain and irritation.

b) Magnesium hydroxide (milk of magnesia) is often used in the above condition which is an analgesic?

Which is a completely correct statements ?

1) Only (a) 2) Only  (b) 3) Both (a) and (b) 4) Neither (a) nor (b)
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76) amï´>r¶ ‘mZdm{YH$ma Am¶moJmMo AÜ¶j Am{U  gXñ¶m§Mr Zo‘UyH$ Imcrcn¡H$s gXñ¶ Agcocr g{‘Vr H$aVo:
a) cmoH$g ôMo AÜ¶j b) amÁ¶g ôMo CnmÜ¶j c) cmoH$g ôVrc {damoYr njZoVo
d) amÁ¶g ôVrc {damoYr njZoVo e) n§VàYmZ f) H|$Ðr¶ J¥h‘§Ìr
¶mo½¶ n¶m©¶ {ZdS>m :
1) (a),(c),(e)  Am{U (f) 2) (a),(c) Am{U (e) 3) (a),(c),(d) Am{U (e) 4) (a),(b),(c),(d),(e) Am{U (f)

76) The Chairman and Members of the National Human Rights Commission are appointed on the recommendation

of a committee consisting of :

a) Speaker of the Lok Sabha b) Deputy Chairman of the Rajya Sabha

c) Leader of the Opposition in the Lok Sabha d) Leader of the Opposition in the Rajya Sabha

e) Prime Minister f) Union Home Minister

Select the correct answer from the codes given below :

1) (a),(c),(e)  and (f) 2) (a),(c) and  (e) 3) (a),(c),(d) and (e) 4) (a),(b),(c),(d),(e) and (f)

77) Imcr Z‘yX Ho$cocr amÁ¶o {Z‘m©U Ho$ë¶mMm qH$dm nyU© amÁ¶mMm XOm© {Xë¶mMm ¶mo½¶ H$mcmZwH«$‘ H$m¶ Amho?
a) ZmJmc±S> b) Am§Y« àXoe> c) h[a¶mUm d) ‘hmamï´>
¶mo½¶ n¶m©¶ {ZdS>m :
1) (a),(b),(c) Am{U (d) 2) (a),(b),(d) Am{U (c) 3) (b),(a),(d) Am{U (c) 4) (b),(d),(a) Am{U (c)

77) What is the correct chronological order in which the following states of the Indian Union were created or

granted full statehood?

a) Nagaland b) Andhra Pradesh c) Haryana d) Maharashtra

Select the correct answer using the codes given below :

1) (a),(b),(c) and  (d) 2) (a),(b),(d) and (c) 3) (b),(a),(d) and (c) 4) (b),(d),(a) and (c)

78) nwT>rc XmoZ {dYmZmn¡H$s H$moUVo ¶mo½¶ Amho ?
a) Omo gmoS>m gd©gmYmaUnUo ñd¶§nmH$KamV M{dï> Hw$aHw$arV ̂ Oo V¶ma H$am¶cm dmnacm OmVmo Vmo Amho ~oqH$J gmoS>m. ~o[H§$J

gmoS>m gmo{S>¶‘ H$m~mo©ZoQ> Amho.
b) dm°qeJ gmoS>m Kaocy H$m‘H$mOmV ñdÀN>H$ åhUyZ dmnacm OmVmo VgoM H$mM, gm~U d H$mJX CÚmoJmVhr dmnaVmV. dm°qeJ

gmoS>m ho gmo{S>¶‘ hm¶S´>moOZ H$m~mo©ZoQ> AgVo.
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) d (b) XmoÝhr 4) (a) d (b) XmoÝhr hr Zmhr.

78) Which of the following two statements is correct?

a) The soda commonly used in the kitchen for making tasty crispy pokodas is baking soda. The baking soda

is a sodium carbonate.

b) Washing soda is usually used as a cleaning agent for domestic purposes and in glass, soap, paper

industries. The washing soda is sodium hydrogen carbonate.

1) only (a) 2) Only (b) Both (a) and (b) 4) Neither (a) nor  (b)

79) B§J«Or gÎmo{déÕ ‘hmË‘m Jm§YrÀ¶m ZoV¥ËdmImcrc AqhgH$ Am§XmocZmn¡H$s OZ‘mZgmcm J{Verc H$aUmar gJù¶mV à^mdr
Midi Vw‘À¶m ‘Vo H$moUVr ?
1) McoOmd Midi 2) ñdXoerMm dmna d naXoer ‘mcmda ~{hîH$ma Midi
3) g{dZ¶ H$m¶Xô §J Midi 4) CnmofU

79) Which of the following non-violent movements led by Mahatma Gandhi against the British Raj, you would

rank as the most effective to mobilize the masses?

1) Quit India Movement                                          2) Swadesi use and Boycott of foreign goods Movement

3) Civil Disobedience Movement                              4) Fasting

80) Imcrcn¡H$s H$moUË¶m IQ>ë¶mMm n[aUm‘ åhUyZ g§gXoZo 24 dr KQ>Zm XþéñVr H$m¶Xm g§‘V Ho$cm?
1) JmocH$ZmW IQ>cm 2) {‘Zìhm© {‘ëg IQ>cm 3) Ho$edmZ§X ̂ maVr IQ>cm 4) e§H$ar àgmX IQ>cm

80) Which one of the following cases prompted the Parliament to enact 24th Constitutional Amendment Act?

1) Golaknath case 2) Minerva Mills case 3)  Kesavananda Bharati case  4) Shankari Prasad case

81) KQ>ZoÀ¶m H$c‘ 22 A§VJ©V, H$mhr Jmoï>tMm AndmX dJiVm à{V~§YH$ ñWmZ~ÕVo A§VJ©V OmñVrV OmñV {H$Vr H$mi
EImÚm ì`º$scm ñWmZ~Õ Ho$co OmD$ eH$Vo?
1) 2 ‘{hZo 2) 3 ‘{hZo 3) 4 ‘{hZo 4) 6 ‘{hZo



MPSC amÁ¶godm nyd© narjm … 2014 nyd© narjm nona-1 / 15

81) Under Article 22 of the Constitution of India, with the exception of certain provision stated there in, what is

the maximum period for detention of person under preventive detention?

1) 2 months 2) 3 months 3) 4 months 4) 6 months

82) ZmJ[aH$Ëd H$m¶Xm 1955 A§VJ©V, Imcrcn¡H$s H$moUË¶m n¶m©¶mÛmao EImXr ì¶º$s ^maVmMm ZmJ[aH$ ~Zy eH$Vo ?
a) ŷ‘r A{YJ«hrV Pmë¶m‘wio   b) dmagm h¸$mZo     c) OÝ‘ ̂ maVmV Pmë¶mZo   d) amï´>r¶rH$aUmÛmao     e) Zm|XUr Ûmao
Imcrcn¡H$s ¶mo½¶ n¶m©¶ {ZdS>m :
1) (b),(c),(d) Am{U (e) 2) (a),(b),(c) Am{U (d) 3) (a),(c),(d) Am{U (e) 4) (a),(b),(c) Am{U (e)

82) Under the Citizenship Act 1955, by which of the following ways can a person become a citizen of India?

a) By incorporation of territory    b) By descent c) By birth d) By registration

Select the correct answer using the codes given below :

1) (b),(c),(d) and  (e) 2) (a),(b),(c) and (d) 3) (a),(c),(d) And (e) 4) (a),(b),(c) And (e)

83) AaqdX Ho$Oardmc, {X„rMo ZdrZ ‘w»¶‘§Ìr d Am‘ AmX‘r nmQ>u ~m~V nwT>rc XmoZ {dYmZo nhm:
a) Vo Am¶. Am¶. Q>r. H$mZnyaMo ‘mOr {dÚmWu AmhoV.
b) Ë¶m§À¶m nmQ>uZo {X„rÀ¶m ZwH$Ë¶mM Pmcoë¶m {ZdS>UwH$sV 70 n¡H$s 29 {R>H$mUr {dO¶ àmá Ho$cm.
n¶m©¶ :
1) Ho$di (a) ~amo~a 2) Ho$di (b) ~amo~a  3) (a) d (b) XmoÝhr {dYmZo ~amo~a 4) (a) d (b) XmoÝhr {dYmZo MyH$

83) Consider the following two statements about Arvind Kejriwal, the new chief Minister of Delhi and the leader

of Aam Aadmi Party :

a) He is an alumni of IIT Kanpur.

b) In the recent elections held in Delhi his party won 29 of the 70 seats.

Options :

1) Only  (a) is right 2) Only (b) is right 3) Both (a) and (b) are right     4) Neither (a) nor (b) is right

84) ‘m[aOwAmZm ¶m ‘mXH$ nXmWmªÀ¶m CËnmXZ d ì¶mnmamcm H$m¶Xoera ‘mÝ¶Vm XoUmao amï´> H$moUVo ?
1) H§$~mo{S>¶m 2) lrc§H$m 3) {g[a¶m 4) Cé½do

84) The first country to legalize production and trade of marijuana is :

1) Cambodia 2) Srilanka 3) Syria 4) Uruguay

85) nwT>rc H$moUVr {dYmZo ¶mo½¶ AmhoV ?
a) Am°p³gOZ¶wº$ aº$ Am{U {~ZmAm°p³gOZ aº$ ¶m§Mo {‘lU hmoD$ Z¶o åhUyZ nú¶m§‘Ü¶o d gñVZ àmÊ¶m§V Mma XmcZm§Mo

öX¶ Amho.
b) A°på’${~¶Zg d H$mhr ganQ>Umè¶m àmÊ¶m§‘Ü¶o H$mhr à‘mUmV Am°p³gOZ¶wº$ d {~ZmAm°p³gOZ aº$ {‘lU hmoÊ¶mg

haH$V ZgVo åhUyZ Ë¶m§Mo öX¶ VrZ XmcZm§Mo AgVo.
> c) ‘mí¶m§‘Ü¶o Ho$di XmoZ XmcZm§Mo öX¶ AgVo H$maU aº$ {Jëg² ‘Ü¶o OmD$Z Am°p³gOZ¶wº$ hmoVo d Z§Va earamÀ¶m BVa

^mJmV OmVo.
1) (a) d (b) 2) (b) d (c) 3) (a) d (c) 4) (a),(b) d (c)

85) Which of the following statements are correct?

a) So as to prevent oxygenated blood from mixing with deoxygenated blood birds and mammals have four

chambered hearts.

b) Amphibians and some reptiles tolerate some mixing of oxygenated and deoxygenated blood and therefore

have three chambered hearts.

c) Fishes have only two chambered hearts as here blood is pumped to gills to get oxygenated which then

passes to the rest of the body.

1) (a) and (b) 2) (b) and (c) 3) (a) and (c) 4) (a),(b) and (c)

86) ’$m°aoñQ> [agM© BpÝñQ>Q>çyQ> ~m~VÀ¶m Imcrc {dYmZm§Mm {dMma H$am :
a) {VMr ñWmnZm "{~«{Q>e B§no[aAc ’$m°aoñQ> ñHy$c" åhUyZ 1906 ‘Ü¶o H$aÊ¶mV Amcr hmoVr.
b) 1947 ‘Ü¶o B§no[aAc ’$m°aoñQ> [agM© BpÝñQ>Q>çyQ> åhUyZ nwZñWm©nZm H$aÊ¶mV Amcr.
c) {Vcm CÎmamI§S>‘Ü¶o S>ohamSy>Z ¶oWo Amho. d) 1991 ‘Ü¶o {Vcm A{^‘V {dÚmnrR>mMm XOm© XoÊ¶mV Amcm.
darcn¡H$s H$moUVo/H$moUVr {dYmZo ~amo~a AmhoV ?
1) ’$º$ (a) d (c) 2) ’$º$ (b) d (c) 3) ’$º$ (c) Am{U (d) 4) ’$º$ (a),(c) d (d)
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86) Consider the following statements about the Forest Research Institute (India)

a) It was founded as the 'British Imperial Forest School' in 1906.

b) It was reestablished as the Imperial Forest Research Institute in 1947.

c) It is located in Dehradun (Uttarakhand) d) It was declared as deemed university in 1991.

Which of the above statements is /are correct?

1)  (a) and (c) only 2)  (b) and (c) only 3)  (c) and  (d) only  4) (a),(c) and (d) only

87) Aï>n¡cy ZQ> ’$méI eoI BV³¶mV Ë¶mÀ¶m d¶mÀ¶m 65 ì¶m dfu {ZdV©cm, öX¶{dH$mamÀ¶m PQ>³¶mZo Ë¶mMo ‘aU Pmco. Ë¶mZo
eVa§O Ho$ {IcmS>r, Zwar, C‘amd OmZ, Mí‘o~Xÿa, H$Wm, ~Pma {MÌnQ>mV Mm§Jco H$m‘ Ho$co. Ë¶mÀ¶m ~Ôc nwT>rc XmoZ
{dYmZm§Mm {dMma H$am.
a) ""Or ‘§ÌrOr"" ‘Ü¶o Ë¶mZo ImË¶mÀ¶m g{MdmMr ̂ y{‘H$m CËH¥$ï> dR>dcr.
b) Ë¶mcm öX¶{dH$mamMm PQ>H$m Xþ~B© ¶oWo Amcm.
n¶m©¶ :
1) Ho$di (a) ~amo~a 2) Ho$di (b) ~amo~a    3) (a) d (b) XmoÝhr {dYmZo ~amo~a 4) (a) d (b) XmoÝhr {dYmZo MyH$

87) The versatile actor Farooq Sheikh passed away recently at the age of 65. He died of heart attack. He acted well
in Shatraji Ke Khilari, Noorie, Umrao Jaan, Chasme Baddoor, Katha, Bazaar. Consider the following  two
statements about him.
a) In "Ji Matriji" he performed the role of a Secretary to the government wonderfully well.

b) He suffered the heart attack at Dubai.

Options :

1) Only  (a) is right 2) Only (b) is right    3) Both (a) and (b) are right 4) Neither (a) nor (b) is right

88) Mmam KmoQ>mù¶mÀ¶m g§X^m©V Imcrcn¡H$s H$moUr amOXMo (amḯ>r¶ OZVm XcmMo) à‘wI cmcy àgmX ¶mXd ¶m§Zm Xmofr R>a{dco ?
1) PmaI§S> Cƒ Ý¶m¶mc¶ 2) ̂ maVmMo gdm©oƒ Ý¶m¶mc¶
3) gr~rAm¶Mo {deof Ý¶m¶mc¶ 4) nmQ>Um Cƒ Ý¶m¶mc¶

88) Which one of the following convicted RJD (Rashtriya Janata Dal) Chief Lalu Prasad Yadav in a fodder scam?

1) Jharkhan High Court    2) Supreme Court of India       3)  Special CBI Court 4) Patna High Court

89) gm{hË¶ AH$mX‘r nwañH$mam§g§X^m©V gyMr d gyMr ‘Yrc OmoS>çm Owidm
gyMr - A (ì¶º$s) gyMr - B (nwañH$ma df©)
a) í¶m‘ ‘Zmoha i) 2011
b) dg§V S>hmHo$ ii) 2009
c) AemoH$ Ho$iH$a iii) 2010
d) ‘m{UH$ JmoS>KmQ>o (J«og) iv) 2008

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iv) (ii) (iii) (i)

3) (iii) (i) (ii) (iv)

4) (ii) (iii) (i) (iv)

89) Match the list "A" with list "B" with reference to Sahitya Academy Awards :

List- A (Person) List - B (Award year)

a) Shyam Manohar i) 2011

b) Vasant Dahake ii) 2009

c) Ashok Kelkar iii) 2010

d) Manik Godghate iv) 2008

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

 2) (iv) (ii) (iii) (i)

3) (iii) (i) (ii) (iv)

4) (ii) (iii) (i) (iv)

90) ‘§JimH$S>o (Mars) OmÊ¶mgmR>r Imcrc ghm Xoem§Zr AWdm EOÝgrZr hmVr KoVcoë¶m ‘mo{h‘m§Zm H$mi H«$‘dmarZo cmdm:
a) A‘o[aH$m     b) a{e¶m      c) MrZ          d) OnmZ     e) ẁamonr` ñnog EOÝgr f) ̂ maV
1) A‘o[aH$m, a{e¶m, MrZ, OnmZ, ̂ maV, ̀ wamonr` ñnog EOÝgr
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2) a{e¶m, A‘o[aH$m, OnmZ, ̀ wamonr` ñnog EOÝgr, MrZ, ̂ maV
3) a{e¶m, OnmZ, A‘o[aH$m, MrZ, ̀ wamonr` ñnog EOÝgr, ̂ maV
4) A‘o[aH$m, a{e¶m, OnmZ, MrZ, ̀ wamonr` ñnog EOÝgr, ̂ maV

90) Give the correct chronological sequence of the mission undertaken to Mars by the six countries or agencies

given below :

a) America     b) Russia     c) China      d) Japan e) European Space Agency   f) Bharat

1) America, Russia, China, Japan, Bharat, European Space Agency.

2) Russia, America, Japan, European Space Agency, China, Bharat.

3) Russia, Japan, America, China, European Space Agency, Bharat.

4) America, Russia, Japan, China, European Space Agency, Bharat.

91) 2011 À¶m OZJUZoZwgma H$moUË¶m amÁ¶mMm cmoH$g§»¶m dmT>rMm Xa CUo hmoVm ?
1) Jmodm 2) {Ìnwam 3) ZmJmc±S> 4) AéUmMc àXoe

91) Which state of India has negative population growth rate as per census 2011?

1) Goa 2) Tripura 3) Nagaland 4) Arunchal Pradesh

92) AVmam§{H$V àíZmMo CÎma {H$Vr H$mimV XoÊ¶mMr gd©gmYmaUnUo emgZmg ‘ŵ m AgVo ?
1) AmR>dS>çmV 2) n§YadS>çmV 3) ‘{hÝ¶mV 4) VrZ ‘{hÝ¶mV

92) Within what period is the Government entitled to reply an unstarred question generally?

1) Within a week 2) Within fifteen days 3) Within a month 4) Within three months

93) ^maV gaH$maZo 26 OyZ 2013 amoOr H$moUË¶m Am¡fYmda ~§Xr AmUcr ?
1) AZ°c{OZ 2) n°am{gQ>°‘m°c 3) àmo³Q>mocm°c 4) {d³g

93) Which drug has been banned by the Union Government on June 26, 2013?

1) Analgin 2) Paracetamol 3) Proctolol 4) Vicks

94) Imcrcn¡H$s H$moUVr Ý¶yO EOÝgr (d¥Îmg§ñWm) OJmVrc gdm©V OwZr Amho ?
1) am°¶Q>a (B§½c§S>) 2) EOÝgr ’«$mÝg-àog (’«$mÝg)(EE’$nr)
3) (S>rnrE) S>r¶wBM àog-EO|Qw>a 4) Q>o{cJ«m’$ EOÝgr Am°’$ X gmopìhEQ> ¶w{Z¶Z (Q>mg) a{e¶m

94) Which one of the following news agencies is the oldest in the world?

1) Reuters (England) 2) Agence France - Presse (France) (AFP)

3) Deutsche Presse - Agentur (DPA)                      4) Telegraph Agency of the Soviet Union (TASS), Russia.

95) "O¶‘mcm {ecoXma" ¶m§À¶m ~m~VÀ¶m Imcrc {dYmZm§Mm {dMma H$am.
a) B§Xÿa ¶oWo OÝ‘ d "g§JrV Ac§H$ma" nXdr àW‘ H«$‘m§H$mZo CÎmrU©.
b) "nÙ ̂ yfU" Zo gÝ‘m{ZV Am{U "g§JrV ZmQ>H$ AH$mX‘r" nwañH$ma àmá.
darc {dYmZm§n¡H$s H$moUVo/H$moUVr {dYmZ/Zo ~amo~a Amho/AmhoV ?
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) d (b)XmoÝhr ~amo~a 4) (a) d (b) XmoÝhr MyH$

95) Consider the following statements about 'Jaymala Shiledar'.

a) Born in Indore and obtained Degree of  'Sangeet Alankar' with First Rank.

b) Honoured with 'Padma Bhushan' and 'Sangeet Natak Academy' award.

Which of the above statements is/are correct?

1) (a) only 2) (b) only 3) (a) and (b) both correct 4) Neither (a) nor (b)

96) Imcrcn¡H$s H$moUVr OmoS>r MyH$ Amho ?
a) A¾r V - Am§VaI§S>r¶ nëë¶mMo jonUmó b) {Ìeyi - gwnagm°{ZH$ H«w$P jonUmó
c) em¡¶© - hm¶nagm°{ZH$ H«w$P jonUmó >d) YZwî` - Aën nëë¶mMo jonUmñÌ
1) (a) Am{U (d) 2) (b) Am{U (c) 3) ’$º$ (d) 4) ’$º$ (b)

96) Which one of the following pairs is not correctly matched?

a) Agni V - Intercontinental Range Missile. b) Trishul - Supersonic Cruise Missile

c) Shourya - Hypersonic Cruise Missile d) Dhanush - Short Range Missile

1) (a) and (d) 2) (b) and  (c) 3) Only (d) 4) Only (b)

97) ^maVmÀ¶m AUwD$Om© Am¶moJmÀ¶m AÜ¶jm§Mr H$mcmZwH«$‘o ‘m§S>Ur H$am :
a) hmo‘r ̂ m^m b) amOm am‘ÊUm c) EM. EZ. goR>Zm >d) {dH«$‘ gmam^mB©
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1) (a),(d),(c),(b) 2) (a),(c),(b),(d) 3) (b),(a),(d),(c) 4)  (b),(c),(a),(d)

97) Arrange in chronological order the chairmen of Atomic Energy Commission of India?

a) Homi Bhabha b) Raja Ramanna c) H. N. Sethna d) Vikram Sarabhi

1) (a),(d),(c),(b) 2) (a),(c),(b),(d) 3) (b),(a),(d),(c) 4)  (b),(c),(a),(d)

98) {dYmZg ôMo H$m‘H$mO H$moUË¶m ̂ mfoVyZ MmcVo ?
1) ‘amR>rVyZ 2) ‘amR>r qH$dm qhXrVyZ 3) ‘amR>r qH$dm B§J«OrVyZ 4) ‘amR>r, qhXr qH$dm B§J«OrVyZ

98) In the Legislative Assembly the official work is carried out in which language?

1) Marathi 2) Marathi or Hindi 3) Marathi or English          4) Marathi, Hindi or English

99) ¶mXr H«$. Mr ¶mXr H«$. er OwiUr H$am Am{U Imcr {Xcoë¶m‘YyZ ~amo~a gm§Ho${VH$m§Mr {ZdS> H$am:
¶mXr -I ({Z¶mo{OV D$Om© àH$ën) ¶mXr - II (‘oJmdm°Q>‘Ü¶o j‘Vm)
a) MwQ>H$m i) 9564
b) O¡Vmnya ii) 1400
c) {‘R>r {daXr ({damS>r) iii) 3300
d) H$moìdmXm iv) 6600

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (i) (ii) (iii) (iv)

3) (iii) (iv) (i) (ii)

4) (iv) (i) (ii) (iii)

99) Match the List- I and List-II and select the correct codes given below :

List-I (Planned power projects) List- II (Capacity in MW)

a) Chutka i) 9564

b) Jaitapur ii) 1400

c) Mithi Virdi (Viradi) iii) 3300

d) Kovvada iv) 6600

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (i) (ii) (iii) (iv)

3) (iii) (iv) (i) (ii)

4) (iv) (i) (ii) (iii)

100) ^maVmVrc gdm©V gdm}ƒ gÝ‘mZ "^maVaËZ" nwañH$mamMr gwédmV H$moUË¶m dfm©nmgyZ Pmcr d AmÎmmn ©̀§V Vmo {H$Vr cmoH$m§Zm
XoÊ¶mV Amcm ?
1) 1952, 67 2) 1954, 41 3) 1969, 45 4) 1972, 41

100) In which year 'Bharat Ratna', the India's highest civilian award was instituted and how many persons have

been honoured with this award so far?

1) 1952, 67 2) 1954, 41 3) 1969, 45 4) 1972, 41
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